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1. Study the flowchart below.

Takes place |¢ - Process A
ali the time

h

Makes energy from food
available for life

processes
What is Process A? -

(1) Digestion

(2) Breathing

(3) Respiration

{4) Photosynthesis

L 4

Takes piace in
living things







4. The diagram below shows a boy moving a box from posifion Ato B.

A B

Which of the following statement(s) is not true of the force used?

(1) A push is being applied on the box.

(2) The forcecan be seen as the box moves.

(3) The force causes the box to move forward. :

(4) Both the direction of the force and box move in the same direction.

5. Look at the diagram below.

—————— >

Floor

_ Y

Ball X and Ball Y are made of the same material. Bail Xisrolling on the
floor in the direction shown. it hits Ball Y which is stationary. What do you
think is likely fo happen to Bail X?

(1) Ball X will stop suddenly.

(2) Ball X wilt move more slowly in the same direction.

(3) Ball X will move more slowly-in the opposite direction.
(4) Ball X will move more quickly in the opposite direction.






10.

Which of the following statements on reproduction of humans are correct?

A
B
c
D

(1)
(2)
(3)
(4)

All eggs are fertilised externally.

One female eggs can be fertilsed by many sperms.

Males produce sperms and the females produce eggs.

After fertilisation, the fertilised eggs will develop into a baby.

A and B only
A and C only
B and D only
C and D only

What are the common cell parts found in both the leaf of a hibiscus plant
and the root of a sweet potato plant?

A
B
C
D

{1)
(2)
(3)
“

Nuclaus

Cell wall
Chioropfast
Cell membrane

A and D only

8 and C only
A, BandDonly
A B, CandD

Which bulb in the following circuits will not light up?

(H

2)

_ 3
—

%

)







12.

13.

A bali was thrown straight up into the air. It moved from X to Y as shownin
Figure 1 and then dropped to X a shown in figure 2.

e

Figure 1

Y

O

X

Figure 2

Identify the energy that is increasing or decreasing from Figure 1 and 2

Kinetic energy of the ball Potential energy of the bail
from X toY fromYto X
{1} decreases decreases
{2) increases decreases
(3) increases increases
| (4} decreases increases

Which of the following statements are true of magnetic force?

A
B
Cc

D

(1)
(2)
(3)
(4)

It can act from a distance.

It travels only in straight line.

It-exerts a force on all metallic materials.
We can see the effects of a magnetic force.

A and B only

A and D only
B,C and D only
AB,CandD






18.

17.

Mr Lim set up the following experiment. First he measured the inftlal jei,
of the spring. Then he placed a 50-gram, 100-gram and 130-gram we
individually in the pan and measured the length of stretched spring o
recarde dthe readings in a table shown below,

T

A

. 1nitial!engtho?zi" ) f;“"'"'"""“""{"
the unstretched |

T ﬁn - ¥ ] TR
SPRRS Extension i
-0, SN
\\ Weight
™ D : AN
“Welghts(g) | Length of stretched
. spring {cm)

50 9
100. 1A
150 EE

VWhat is the initial length of the spring?

(1YZ2cm
(2) 7cm
(3) 9cm
{(4) 13cem

May conducted an experiment with the flowers in her garden. She wantex
to find out if a flower can develop Into & fruit when a certain partof a flowrs:
is removed. She used the same type of flower for her experiment.

FlowerX: Style is removed
FlowerY: Anthers are removed.

.FlowerZ: Petals are removed.

May then dusted poflen grains from the same type of flower over Flowers
X, Y and Z. She cbserved them for two weeks. Which of the flowers are
most likely to produce fruit after two weeks?

{1) FlowersXand Y
(2) FlowersY and Z
{3) Flowers Xand Z
(4} None of the flowers






19. A stalk of balsam was placed in water that was coloured with blue ink. The
next day, the stalk was removed and cut across XY as shown In the
diagram below.

A omrea ls =y e

rxNF e o m with blue ink

F‘%él’i’;— LA water coloured

Which of the following shows the cross-section that would he observed In
XY?

{1 &)

@)

it






22.  Aglass of ice water at a temperature of 10°C is placed inan air-tight box.
as shown in the dlagram below. '

—]——Box

lce water

s

What will happen to the air in the air-tight box after 2 minutes?

A The air wili become hofter.

B The air will become cooler.

C The air will confain less water vapour.
D The air will contain more water vapour,

(1) A and C only
(2) A and D only
(3) B and C only
(4) B and D only

13






24.

Ben carried out the following experiment in a dark room. He arranged a
torch, a potted plant and four sheets of different materials as shown
below. When the torch was switched on, a dark shadow of the plant was

cast on Sheet Y only.

w X Y Z

Which of the following conclusion{s) can be made from the experiment?

A Sheet Z is transparent. .

B Sheet Y blocks light completely.

C Sheet W and X allow light to pass through.

D Sheet W, X and Y allow light to pass through but Sheet Z blocks
light completely.

(1) D only

{2) B and C oniy
{3} C and D only
(4} A, Band C only.

i5






27.

28.

When a botile of perfume is opened at one corney of a room, the scent of

the perfume can be detected at other corners of the room very quickly.

Which of the following characteristics of matter is related to this
phenomenon?

(1) Matter has mass.

(2) Gases can spread out to occupy more space.

(3) Gases can he compressed to occupy less space.

{4} Liquids have no definite shape but have a definite volume.

The table below compares some information of plants and animals.

Plants Animals
A Fixed in one place. Move from place to place by
i _ themselves.
B | All cells contain All'célis'do rot contain
chioroplasts. . chloroplasts.
C_ |:Mak “own food. | Fead 6ri-gther living things.
D | Generally have 5, i Varlous bady forms, usually a
‘gteém and-roots and are head and a body.

Which of the following comparisons are true?

(1) B and D only
(2) A, B and G only
(3) A, C and D only
{4)A,B,CandD

17
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Write your answers to question 31 to 44,

The number of marks available is shown in brackets [ ] at the end of each
guestion or patt question.

31.  Study the diagram below.

l EBeaker
i_‘ ﬂ—l%!—-ﬂ Hole
Water

wheel

e e e ]

=

(a) What will happen to the water wheel? i1]

(b) What will heppen when the size of the holeis increased? Explain your
answer. i

Score

18






33.

(@)

(b)

Start position

Jonathan used some rubber bands to set up an experiment as sii
below,

Eraser

Wooden boav!

: AT D

He held an eraser on the board at the start position, released it and
slide along the board. He did this for three times and recorde:
distances moved by the eraser, He then repeated the experiment =i
spreading some talcum powder on the board.

1 2 3 4

Board without falcum | 10.8cm | 12.5cm | 12.3cm | 11.8cm
powder

Board with talcum] 13.1cm{ 12.5c¢m (| 13.8cm | 14.1cm
powder

What is the independent variable in this experiment?

What is the effect of the force exerted by the stretched rubber band o 7t

eraser?

20 7

Score







35. Helen set up the experinient as shown below to find out the rate of
respiration with increased activity.

Enclosed glass

; Exercise
container

i

Mouse A 5 ' Mouse B

Solution X

(a)  What could solution X be? {11

(b)  Which mouse respiring faster? Why did the mouse respire faster and
how did Helen come to the conclusion? 2}

2 Score . 3







37. Shalome likes to jump on her spring mattress as it lifts her up in the air as
shown below.

Explain, in terms of energy conversion, how does jumpig on the spring
mattress a few times enable her to reach a higher height? i2]

24
Score







39. Adam threw a toy ;iarachute from the top of the roof Within seconds, it fell
to the ground.

Plastic sheet

Weight

{a) Label and draw arrow(s) in the diagram above to indicate the force(s)
acting on the parachute. [2]

(b) Suggest one method to keep the parachute in the air for a longer time [1]

26
Score , 3







41,  Martin set up the experiment as shown in the diagram below.
/lron
bar

4 ———Basin

Plasticine

He added an jron bar on f{he plasticine and measured the height of the
plasticine, H. He continued stacking more iron bars on top of each other
and recorded the height of the plasticine.

(a) Identify the force that is acting on the plasticine when the iron bars are
placed on it. {1}

{b)  Sketch a graph to show the height of the plasticine, H, when more weights
are added. 2]

H(cm)

I 3

Number of
—*iron bars

28 Score 3







43.

(@)

(b)

Study the set-up below.

Torch
30cm
wooden
pole

Screen

When the torchlight was shone an the wooden pole, a dark shadow of the
wooden pole was cast on the screen.

What would happen to the shadow if the wooden pole was shifted further
from the source of light? [1]

A sheet of red ceflophane paper measuting 40cm by 40cm was placed
between the forch and the wooden pole as shown below. Draw the
shadow that he would observe oh the screen in tha box below. 2]

2

Torch
30cm
e “.Re;;;i wooden SL
ellop 'a“e'pole creen
paper

30 Score /\




44.  Ahmad conducted an experiment as shown below.

Flask

§ water
}
\E:g_“s‘—-{_iquid X

Four materials of the same temperature were placed above the flask, one
at a ime. He recorded the amount of liquid X collected in the bow! after

ten minutes in the table below.

Material Amount of Liquid X
coltected after 10 min (mt}

P 200

Q 50

R 110

S 75
{a) Whatis Liquid X? (1
(&) Explain how Liquid X was collected in the bowl? (13

(¢ Which material is most suitable for keeping food hot? Explain your answer.
| {2

31 Score
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31)a)If will spin.

b)The water wheel will turn faster with a bigger hole, there will be move
mass at the same time which will increase the kinetic energy of the wat::
being transferred to kinetic energy of the cup.

32)a)The amount of elastic force applied on the elastic band and the mas: o7
the stone.
b)Elastic potential energy->kinetic energy->Gravitational potential eneiyy .

33)a)The presence of talcum powder.
b)The eraser will move.

34)a)He should have all four magnets at the same height.
b)Magnet A could be attract by Magnet R or could attract only one
thumbtack.

35)a)leewater

b)Mouse B. The mouse needs more energy for its exercise. It respires mors
to. buy takmg in more oxygen to break down the digested food to release the
ene ore carbon dloxxde will also be produced during-respiration to turs
,_ater calkmg nore quickly.

the Tim |
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42)

Powex l

B

43)a)The shadow will be smaller.

44)a)Pure water.

b)Water evaporates into hot water vapour as it gains heat from the heat
sourceé. Vapoiur condenses on the cooler surface of material P into water
droplets. Due to gravity the water droplets will roll down and into the bowl at
the.bottom.

c)Material P. It is the poorest conductor of heat as it gains heat the slowest.
The surface will be the coolest for the longest period of time and hence allows
the most amount of water vapour to condense.

Page 3
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